Test Booklet Code & Serial No.

YT IS o FHHIE C

Paper-I1
GEOGRAPHY

Signature and Name of Invigilator Seat No.
1. (Signature) .......ccccvvveeeeeeeeiiieiee e (In figures as in Admit Card)
(NEIME) .o SEALNO. ..oeeevieiriieieietee et
2. (SIigNAture) ......ccceveevereeienieeeeniieens (In words)
(NAME) ..o OMR Sheet No.
JUN - 36220 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 48 Number of Questions in this Booklet : 100
Instructions for the Candidates Teremreatardt wewameaT T
1. Writﬁe ytour Sfeta}f_No. and OMR Sheet No. in the space provided 1. qfemeff= oTraet oa" FHE O W AT HIY=Ad fergra.
on the top of this page. T AT R ST S A .
2. This paper consists of 100 objective type questions. Each question
will carry two marks. All questions of Paper II will be compulsory. 2. T YEAICNRA 100 W T 3R Fedeh FeAH Eﬁ’f Rl
3. At the commencement of examination, the question booklet 3T|%T-[ A IR dret ‘{'ﬁi‘ gy Arefan sfard 311%
will be given to the student. In the first 5 minutes, you are 3 qﬁ%g&wﬁmmmﬁ?ﬁaﬁa Wﬁﬁgﬂ 5
requested to open the booklet and compulsorily examine it as ’ e & 7 ﬁ
follows : = R EEN J T
@) To have access to the Question Booklet, tear off the RIS
paper seal on the edge of this cover page. Do not accept () YA STSTATEIE! JTUhar TEeiel Hiel ST
a booklet without sticker-seal or open booklet. et THerel foran Hiet Sueeel wyTatER feswTE T
(€23 Tally the number of pages and number of questions in B
the booklet with the information printed on the cover (i) Tfecan Is3el T FTATHHS G LB H—%
page. Faulty booklets due to missing pages/questions q" gIT TR ThHI T TS Tq&dlegd W'E']Eﬁ
o:hqut::istions repeaged or m;tbin seriatl grdeg or any oS HHT STHRICH /R TT STHIEH/ Te= ﬂaﬂm El
other discrepancy should not be accepted and correc STEe fRan ammmm
booklet should be obtained from the invigilator within s Wﬁ _1@
the period of 5 minutes. Afterwards, neither the Question 5 1 &FhTCT XA % SF { geTafh T
Booklet will be replaced nor any extra time will be AT, TR TEAITRT I5eH THUR ATE! T8 e
given. The same may please be noted. e oo At AT e foreneath Hig =,
(iir) After this verification is over, the OMR Sheet Number :
. Gii)y ~ IOAYAET § qedregd difecamaid IYTaSaR
should be entered on this Test Booklet. 5
4. Each question has four alternative responses marked (A), (B), @@W STk TR fergra.
(C) and (D). You have to darken the circle as indicated below on | 4. T FEAIS! (A), (B), (C) ST (D) SR 9R foehey s faedt
the correct response against each item. 3R, T AT AT ThT ©iTei] S aeaTga Tl 33k qor

Example : where (C) is the correct response.

hTeal/Fical L.
@ ‘ @ G, : (C) T AT W ITHA W
5. Your responses to the items are to be indicated in the OMR @ ‘ @
Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIFEEEIECTICEES I 31}@3]“ mﬁm
6. Read instructions given inside carefully. R fomn fefeeiel ST aurEel SR Eid.
7. Rough Work is to be done at the end of this booklet. 6. 3 ﬁﬁwwmw

8. If you write your Name, Seat Number, Phone Number or put 7. YITUTH =1 a2t SSoiedl =1 U hed Y g,
any mark on any part of the OMR Sheet, except for the space 8 ST ST e;h-qq R X TS Forea fasTon S TR FHisat

fallott.ed for the rele'vant entries, which may disclose ym{r A, WW,WWW SeE T Wﬁqﬁ“ﬁﬁ@
identity, or use abusive language or employ any other unfair N : . N ;
means, you will render yourself liable to disqualification. | G ST & s { TR

9. You have to return original OMR Sheet to the invigilator at the WW fereneaten wherg sTam SXfemar JEa. .
end of the examination compulsorily and must not carry it with 9. T TR faneat Hes 7. T, 3TR. ITRULAHT THITFRHS
you outside the Examination Hall. You are, however, allowed T HL 3TETTF 3:{1%‘ ﬁﬁ]Tﬁ:[,WQﬁEF[E[ 35[’[111:[3“1 B tCIEC ol
to carry the Test Booklet and duplicate copy of OMR Sheet on %;ﬁ-q Tq STIcATEIsR Joary faeneat=n aearit 3R,

1 ;‘J’“Clusl““él"f 'j’;l‘mlﬁ‘%“ﬁn' - 10. W e fohan shTesn siel ST SR .

. se only Blue/Black Ball point pen. < St PR i 3 8
11. Use of any calculator or log table, etc., is prohibited. 11. il .

12. There is no negative marking for incorrect answers. 12. W TGS RUERIS el SO AT




JUN - 36220/I1—C



JUN - 36220/I1—C

Geography
Paper 11

T

gyutrent I1
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

U Sed. @d U Wi

In the K3 principle of the central

place theory, if the number of

settlements are 81, then the

hierarchy of settlements from higher

to lower order will be as follows :

(A) 81 (1, 3, 6,9, 21, 47)

(B) 81 (1, 2, 6, 18, 54)

(C) 81 (1, 6, 18, 27, 29)

(D) 81 (2, 4, 8, 16, 51)

World’s population is growing

Rapidly since the Industrial

Revolution due to :

(@) Faster urbanisation

(b) Increased pace of migration

(¢) Rapid decline in mortality

(d) Birth rates exceeding death
rates

Select the correct alternative using

the codes below :

(A) (a), (b) and (c)

(B) (c) and (d)

(C) (®), (¢) and (d)

(D) Only (d)

FE T fageraren Ky dems, SR
Rl TE 81 I9d, W I=4 d
TTA=AT HATRIENA aursdi=l Ui
A

(A) 81 (1, 3, 6,9, 21, 47)

(B) 81 (1, 2, 6, 18, 54)

(C) 81 (1, 6, 18, 27, 29)

(D) 81 (2, 4, 8, 16, 51)

STt FIAHAM SR aArh e
Hiodl YHIUMG Sl ol whi

(@) Sl YHIOMA AR

(b) T SMEAA A

(c) HISTHEA Hicdl JHIUNG STelet! oS
(d) e YogeUus S JH
STl Fehdiehlqd 3Teeh gt faer .
(A) (a), (b) A (c)

(B) (c) 3T (d)

(C) (B), (c) A (d)

(D) ®F (d)

[P.T.O.



Match the List-I and List-II and
select the correct answer from the
codes given below :

List-I
(Models)
(@) Concentric zone
(b) Sector
(¢) Multiple nuclei
(d) Rural-urban fringe
List-II
(Proponents)
(1) H. Hoyt and Davis
(2) R.J. Pryor
(3) Burgess
(4) Harris and Ullman
Codes :

(@ b)) (@ (@
A 2 @ @O O
B 3 1 @ @
© @ 3 @O @
D @ @ & @

Hidden momentum of population
growth means :

(A) Process of population increase
continues even after fall in birth
rate because of large youthful
population

(B) Birth rate is high and death
rate is low

(C) Growth of population at the
receiving destination of
displaced population

(D) Uncontrolled population growth
despite population control and
population planning measures

JUN - 36220/II—C
Iat-1 9 AE-11 [effet stean Joen S
I IR M=
-1
()
(@) ohisa &
(b) TN
() Wg-haradl
(d) TME-TR 9
arer-11
(=)
(1) w=. que offr Sfwg
(2) Y. JER
(3) oo™
(4) 3R suftr I
Hehdieh :
(@ b)) @ (@
A 2 @ @O O
B & 1 @ @

© 2 & O @
M @ @2 & @

AREE el dddel a7 BN

(A) ST TEU ARACIHS STHGUA]
TR & AhaEA el Uik
=re] Afgalt 3.

(B) STIGY B S 30T GgeX &1 Al
ST

(C) Tidex TR faeenfud dehaeigs
S AhEE aTe.

(D) g fEFor enfor drerEE
ERISEEEIPRISEIRC T R RS B RIE

o] AhEEdl e




Assertion (A) : Slums are usually
characterised by high density of

population and compact settlement.

Reason (R) : Slums have

inadequate basic amenities.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following statements
is incorrect ?

(A) Modern census is held once in

ten years in India

(B) Vital statistics is a civil
registration system recording

incidence of crimes

(C) National sample surveys in
India is conducted in the form

of successive rounds

(D) The greatest strength of census
enumeration is that it covers all

the people in a country.

JUN - 36220/I1—C

faem (A) : sUSTI™T WHTAG:
TR 359 ST ST STe qurgdq

W a

AR [epd  HAHdId.

HRUT (R) : HUSYLd qayd gfaen
ST ST,

(aV o N

arell fooiean Sahdiemgd g 3

REER

(A) TEI (A) 9 (R) 3T A (R)
(A) 9 I fagavm o 1g

(B) 3=l (A) d (R) 379 3Ted 9 (R)
T (A) 3 Irg favew @

(C) (A) ¥79% 3% Rg (R) & IF M

(D) (A) I 318 W (R) ¥ Th 8

EeAdR! S0 A dehid o8 ?

(A) TRAME YR ST <81 T
Thal T

(B) ARl Figuft wgHdidiel T Hiq &
TETE e Afsdl 3.

(C) YRAMEY TS T g TS

ShHRT: FshlehX TEEYId h{TYTd .

(D) SO T{OERIEE Sdia Hexere
qehe TRUNSI QIMCIA Fd  dArehT=
T Shelell AdYia.

[P.T.O.



Match the List-I and List-II and

select the correct answer from the

codes given below :

(@)
)
(c)
d)

(1)

2)

3)

(4)

List-I

(Type of Movements)

Transhumance
Commuting
Emigration
Circulation
List-1I
(Characteristics)

Movement from home to place
of work

Short-term, repetitive, cyclical
migration
Seasonal movement up and

down the hills

Migration across international

borders

Codes :

(A)
(B)
(®)
(D)

(@ B © (@
@ O @ @
@ @ @O @
o & @ @
@ O @2 @

JUN - 36220/I1—C

ARI-1 3 AEI-11 A= Sie Seoad @it
HehdlehIqd g e feren .

-1

(F@TH = THN)

(@) GHH
(b) e wa™
(c) RIS SR TR
(d) e

FT-11

(TuTafiT)

(1) =9gd § & fewhromaa

EEl

(2) STCUhTA, YA ST =hid
TR

(8) THEIUNTER =R 30T el ehededt
T J-=1

(4) STAWSSE T sTiaigd &ad
AT

Hehdieh :

(@ ) © @
Aa 6 O @ @
B @ & @O @
e O 3 @ @
M & @O @ @




Which of the following law(s) is/are
given by Ravenstein ?

(@) Each main current of migration
produces a counter current

(b) Females predominate among
short-term migrants

(¢) Migration tends to be selective

(d) Magnitude
increases with the advancement

of migration

of technology

Select the correct alternative using
the codes below :

(A) (a), (b) and (c)
(B) (b), (c¢) and (d)
(C) (@), (b) and (d)
(D) (c) only

Which of the following theorist/s put-
forth population growth versus
wealth and poverty ?

(1) Robert Malthus

(2) David Ricardo

(3) Warren Thompson

(4) Michael Sadler

(A) Only (1) and (2) are correct
(B) Only (3) and (4) are correct
(C) Only (1) and (4) are correct
(D) Only (1) and (3) are correct

8.

JUN - 36220/I1—C

o TSN

YA It Eelterdent shivrd fem fao

Aea ?

(@) TIARN Y% &I yaE 7 Ui
yarg o .

-~

(b) AHTAT TIAAHES AfgAT
gaToT ATy 3T .

() TIAR w0 faes .

(d) TERIEEAT WAHE TA aed.
Eefiel Hehdleh dTa&A A T ferer
(A) (@), (b) 0 (c)

(B) (B), (c) 3o (d)
(C) (@), (b) =nf0T (d)

D) (c) e

TrATad®T wivear fagenarRi
TIhEEA a1 & Hwh S0 JIRG A=
foegy % o\ TayeR Hisa ?

(1) Ve Areod

2) <fwe et

(3) 9 oiwEA

(4) HEHA FSe

(A) e (1) T (2) SR

(B) ek (3) 0T (4) SR

(C) eI (1) ST (4) SR

(D) e (1) 30T (3) seR

[P.T.O.



10.

11.

Which of the following is a
consequence of migration ?

(z) Changes in sex ratio

(i1)) Changes in literacy and

education
(iii) Changes in age-structure
(tv) Changes in residence
Codes :
(A) @), (1) and (ii7)
(B) (@@0), (iit) and (iv)
(C) @), (1), (ii) and (v)
(D) (@) and (iv) only

Assertion (A) : Copper smelting
industry is often located near the
source of raw material.

Reason (R) : Industries are usually
located close to the source of raw
material.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) is not the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

correct

(&)
(D)

10.

11.

JUN - 36220/I1—C

EATdeh! ShIvAl GROTH  TATar=n
A ?

() SN-Te8 YAV o5a

(i) weRar emfur fYrerondtel s

({ii) TI-FLIAIA e

(jv) IAATIA o
Hehdich :

(A) @), (i) =fo (iii)

(B) (D), (iii) 3T (jv)
(©) (), @), (i) S (v)
(D) () A (iv) T

faem (A) : ae formes e aIgaehar

e ATATT Gl ere Tenfaehien o

AT
T (R) : ST TR kL0 THTd:

o HOMA Harsiaes edd.

AT I TSR AR ?

(A) T (A) 9 (R) 31k 31 (R)
(A) ¥ IFT TR 3R

(B) TI=I(A) 9 (R) 379 3ed W (R)
T (A) 3 TH TARHI TG

(C) (A) 3T9® 38 W (R) T TH 318

(D) (A) 9% =% Tg (R) & 3T9F e




12.

13.

Transplanting method of rice
cultivation is most common in which

of the following area ?

(A) West Odisha

(B) Saurashtra Plain

(C) Eastern Ghat

(D) Deltaic region of the West

Bengal

According to the All India Soil and
Land use Survey Organization
(1970), class V of Land use capability

class denotes for :

(A) Very well suited for grazing

(B) Well suited for grazing

(C) Fairly well suited for grazing

(D) Poorly suited for grazing

12.

13.

JUN - 36220/I1—C

ETATAYh] ShIvTcT YR WId ARTeIE =i

YUU Tgd S Yefad g ?

(A) dfv=m efEmm

(B) WISz HEHT wm

(C) gd ®e

(D) uf¥=m aer=n "SI

sfee aRd™ ge1 oo ot IS

HAETO FeAT (1970) THR Ht ITASH

Ul SaRIdie o V g Sgiedl ?

(A) TR Gua AN IRId

(B) =RUARRAT AN Area=

(C) =TUITRIAl 3ish ArIa=

(D) =UFEhidr AT A=

[P.T.O.



14. Match the List-I and List-II and

select the correct answer from the

codes given below :

List-I
(@) Renewable
(b) Non-renewable
(¢) Biotic
d) Cyclic

List-II
(1) Forests
2) Coal
(3) Water
(4) Solar energy
Codes :

@ ® © @
A @ @O B @
@ 3 @ @O @
© @2 1 B @
O @ @ @O O

14. I 9 AT 3= Siea Sjeiad @rera
HeharhiE arg e e

Iret-1
(@) QRO
(b) SAYTAIIRTIT
(c) Sifaes
(d) =

Tret-T1
(1) =
(2) B
(3) i
(4) drsst
Hehdieh :

(@ ) (o
A @ @O O
B) G @ @
< 2 @O @O
D @ 2 @

JUN - 36220/I1—C

(d)

(2)

4)

4)

3)

10



15.

16.

17.

Match the List-I and List-II and
select the correct answer from the
codes given below :

List-1
(@) Berbecho
(b) Conuco
(¢c) Kaingin
(d) Chena
List-II
(1) Venezuela
(2) Philippines
(3) Mexico
(4) Sri Lanka
Codes :
(@ ®) (@ @)
A G @ @ @
B 2 O @ O
< & @O @ @
M 1 3 @ @
Which one of the following countries
is known as the “land of

co-operatives” ?
(A) Finland
(B) Denmark
(C) Sweden
(D) Norway

State farms in Russia are also
known as ............... .

(A) Kolkhozes
(B) Kibbutzim
(C) Sovkhoz
(D) Latifundium

15.

16.

17.

JUN - 36220/I1—C

IEH-1 9 ARI-11 A= Sireel e @ettal
Hohdaierd Grg 99 aer

arat-1
(@) SRR
(b) IR
(¢) S
d) =

arai-11
(1) =RTeuen
(2) Twetfod
(3) W
(4) siican
i

(@ B © @@

Aa & @ @ @
B @ QO @ O
< & 1O @ @
O 1 Q) @ @)

TTEAeTdeh! STV U * FEshire o’
Y Feged Sd ?

A) fres

(B) €T

(C) w@ted

(D) =fd

I TS Aieeh = I
3 TN,

(A) HenEd
(B) fereefem
(C) HrgaErst
(D) cffewieay

11

[P.T.O.



18.

19.

Optimiser behaviour belongs to
which of the following approach to

industrial location ?

(A) Behavioural Approach
(B) Least cost Approach
(C) Structural Approach
(D) Functional Approach

Which of the following statements
about Weaver’s crop combination

method is not correct ?

(A) Weaver was the first to use the
technique to

the crop
combinations of the Mid-West
(U.S.A)).

statistical

demarcate

Weaver’s method suffers from
the set back of laborious

calculations.

(B)

(C) According to Weaver the
theoretical curve for the
standard measurement of five
crop combination was 25% in

each of five crops.

(D) Scott modified Weaver’s method

and applied it to a survey of
both

combinations.

crop and livestock

18.

19.

JUN - 36220/11—C
ST TR [ LOTTd WITeiTeTUeh! ShioTd]

gfteehll STRTENG! IdUhiaaE 3R ?

(A) SR gieehH

(B) foum @@ gfesm
(C) T=ATcHS® gfteshA
(D) sEiEs ghewH

Gk Jegt=aT Uleh TASTIgdT Tael

Hivg fouH T @ ?

(A) 9eg-ufy9q g .uq.w.=ar diw

A ARG SIS

TAN JoIH TR Jegdd hal.

(B) o= qGd SHYeeh TUMHes HREl

aqUd A ATEL

(C) J=T=A1 Jd Ure Wik GArSHr A

qIO=T= Tgifder ok Tt 25%

e TeREel sTeesd!.

(D) hic A deetdl q5d U hett

sfor fa=m armR dier 9 giEd

TS T LTS shel.

12
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20. Which of the following factors is not | 20. WreiicUsh! v ‘ T AT FRTHN
a dimension of Gender Inequality RO’ AT 2
Index ?
(A) 3R
(A) Health
(B) Empowerment (B) T
(C) Labour market (C) &9 &N
(D) Knowledge D) T
21. Assertion (A) : An overwhelming A A
proportion of the scheduled caste 21. TRUTT (A) : SIS SIS ST
population in India is confined to wrehEE TR yrEAr et Heifed
rural areas. TR,
Reason (R) A very large
. . Y ® hIUT (R) : WRAr=Al Aqyfad St
proportion of India’s scheduled caste
population is either landless or have AHHEIH TH IS AR THR
small holdings. e feal TeayuR® TR
Which of the following is correct ? i A AT e 7
(A) Both (A) and (R) are true and
(R) is the correct explanation of &) A (R) <T=TE (R)
(A) T (A) = gw fawemm oTR.
(R) is mnot the correct
. T (A) 3 39w fovamm .
explanation of (A)
(C) (A) is true but (R) is false (C) (A) R WY (R) I
(D) (A) is false but (R) is correct (D) (A) = tR—Sl (R) SR
13 [P.T.O.



22. Assertion (A) : A state is an

23.

independent, sovereign government
exercising control over a certain
spatially defined and bounded area.
Reason (R) : All states are cleanly
defined nations represented by
homogeneous religion, culture,
language and national interests.
Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

()
(D)

Cultural convergence occurs when :

(A) Ideas, innovations, substances,
practices, religions, enterprises
and styles spread areally

(B) Value attitudes,
customs, language and other

systems,

cultural traits are brought by
the contact of dissimilar culture
groups.

(C) An attribute of one culture
group is adopted by another

(D) A culture group has modified its
environmental setting

JUN - 36220/I1—C

22. faam@ (A) : TS0 ¥ T W, 9edm

23.

TR YA Tofiree werefta gftwfea sufor
qiefter Sorer fasor 39d ST
HIUT (R) : Td U9 & ThadH o,
TOEUY Flelel IRYTYG ¥ 3THard.

ETATUeh] hI0d SRIET 3R ?

Hehdish :

(A) TrErl (A) 3T (R) SRS 3Tred 37T
(R) T (A) ¥ 79 fawersm sTe.

(B) (A) 3TfU7 (R) Sl sRIeR 3Td T
(R) ¥ (A) = 19 fawersmr 7@

(C) (A) s R (R) I

D) (A) I R (R) R

TRt TR d=1 B

(A) g, Aifa=, 219, gerr, o, SUshA
afoT Fieft STeTes eI TEdTd

(B) T=1 F&hdl = USRI AT
ST SR WIERfdeh T[UIEH 30T
SiGIG]

(C) TR FERdT =T UTEH GRS
TR STl

(D) TR FEhdll e TATEUNS iGOTHE
YR TSI A ST,

14
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24. Which of the following statements | 24. @il Sivd fauM ok A ?
is not correct ? : & s
(A) The domain of the Austro- (A) HIXAT=T 2T . S

Asiatic family of languages lies ARSI ATe @Tvﬂ% &3 I
in the north-eastern part of e
India o f & s st 5

(B) The ancient hunters and food (B) .. A=
gathers organized themselves foeaifid Ardgey dxerer enenfia
in groups based on extended TS W Al 99ied & Udal
kinship principle R R D

(C) Social historians are in general (C) | aldschhl{Hlﬁ e
agreement that caste system B HISI ohel 3718 i STITeHere Sigeh
began in the Vedic period Fleeld F& ]

(D) Castes are often classified into o et @ﬁ}‘d
three main groups, such as (D) ;_:;r;;ﬁ'—[ tl’{;gq ,\%:a ,\ﬁ
functional or occupational, pldlcHen fopdl AANITEn,
racial or ethnic and sectarian EINERETICINE MR UK I HIRED

25. Match the concepts (List-I) with | 25. <l #e3 Heheu 70T F@1-11 #elt &l
their proponents (List-1I) selecting ke feadt aRd, wnelt feden
correct answer from the codes given 2. . S S S
below : q1 S o\

List-I Tt .

(@) Rimland theory et f-

(b) Lebensraum EZ; T {HE e

(¢) Heartland theory © W ﬁ:ﬁ%ﬂﬁ

c qHE
(d) Geopolitics (d) S
List-II TE-I1

(1) Mackinder (1) st

(2) Spykmen (2) TIEHEA

(3) Ratzel (3) @F’[

(4) Rudolf Kjellen (4) TEleh o

Codes : Hahdich :

(@ ®) @© @ (@ b)) © @

A @O @ @ O3 A 1 2 @ O

B 2 G @O @ B @ & 1 @

<o o 6 @@ @ <o @O 8 @ @

O & 1 @2 @ D 3 1 @ @
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26. Match the concepts (List-I) with

their meaning (List-II) selecting the
correct answer from the codes given

below :
List-I
(@) Topophillia
(b) Toponym
(c) Culture area
(d) Cultural hearth
List-II

(1) Place name, especially one
derived from a topographical

feature.
(2) Positive affective ties to place.

(3) Region whose inhabitants share
common identifiable cultural

traits.

(4) Centres from where new ideas
and innovations spring up and

spread.
Codes :

(@ ®) @ (@
A 2 @O G @
B) @2 G 1 @
< O @ @2 @
D B 1 @ @

JUN - 36220/I1—C

26. ARI-I ALY HehoTHT 10T ARI-11 ALY =

31ef feor oea, Teht feeiean HeharhreA
g TAE eed Siean el ¢

Tret-1
(@) <
(b) A
(c) WIEpiae &
(d) WEHfas BTES
Tret-T1

(1) Tesr=l A i fordom: yearear=n
SfyrseaimeA fafifa ot s

(2) TIRBPN HhNcHE: WIOTHS: &
SATITHS!.

(3) =1 YISl Al | Se3E
i TTUIEd HMETS .

(4) A WHTH HIHYT TolA Hoql
o Ife=rar ed S T

Hehdich :

(@ B) © @
@Aa 2 O 6@ @
B 2 & O @
© O 6 @ @
M & @O @ @
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27.  Arrange the following north-eastern | 27, gem=1 T<aT= THY (2011) AhECHAT
sates on the Past of share of | " s gt ion e
state total population (2011) starting AT SATHT AT <Al
from the highest. (1) 3rEm
(1) Assam @ iR
(2) Manipur
(3) Mizoram ®) T
(4) Tripura (L%) ﬁl‘g’{[

Codes : Hehdleh

(A) (3), (2), (4) and (1) (A) (3), (2), (4) 37or (1)
(B) (2), (3), (1) and (4) (B) (2), (3), (1) =7fur (4)
(C) (4), (3), (1) and (2) (C) (4), (3), (1) 3fur (2)
D) (1), (3), (4) and (2) D) (1), (3), (4) 7T (2)

28. Federalism does not involve which 908 HETEIRTES i e Fu
of the following ? A T 2
(A) Division of power (A) T framR
(B) Division of function (B) s fasmoh
(C) Regional autonomy (C) TR T
(D) Centralisation of power D) T FHE

2 ae conducted by e MU | 29, st e e et et
(A) Barber A) TR )

(B) Emeneau (B) T
(C) Grierson (C) T
(D) Khubchandan (D) T

0. Mihich ons of th four languake | g0, s s s o s e
70-80°different langaages | TS S SR 2
(A) Austro-Asiatic (A) sire-sTfees
(B) Dravidian (B) SfFer
(C) Indo-Aryan (C) zE1-31rd
(D) Tibeto-Burman D) faed-am

17 [P.T.O.



31.

32.

Assertion (A) : Many geographers
felt uneasy about the identification
of Geography as a chorological
science.

Reason (R) : Geography was
defined in terms of its method rather
than its subject matter.

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which one of the following is not an
objective of quantitative revolution
in Geography ?

(A) To explain and interpret the
spatial patterns of geographical
phenomena in a rational,
objective and cogent manner.

(B) To make geography a truly

chorological science

(C) To make precise statements
(generalisations) about

locational order

(D) To change the descriptive
character of the discipline

31.

32.

JUN - 36220/I1—C

faeam (A) : 3& AR e
e Sa-faer famm owft womm
T .

R (R) : YiieT <= e et
AT TEHATAR IR et et oTR.

IR HIOA ST AT ?

PO

(A) (A) 70T (R) SFTel SR 3Ted ST
R) ® (A) 3 3=F favawy TR

N

(B) (A) 3701 (R) =TT S 3Ted W
(R) ¥ (A) = g% fagersor =@

(C) (A) 3/ g% W (R) I%
D) (A) I TU (R) =

T RVl YATCTHENE HEATHe

el SR @ ?

(A) Arifersh e et ST faemn
Fafifen, axqfTee oMt I U
faveroor TS o

(B) e W T oM So-fowar
IEEIERCEEL

(C) Tk shHTeIggel (HHTehIsh0T-
dgacl) SUfaeh faem swIvaEet

(D) TME= FUATHE TOTEH TSATATHIS!

18



33. Consider the given statement and

say which three out of the four

factors are correct.

“The concepts of Hattner and

Schluter appear somewhat
antithetical on first sight, a closer

scrating reveals otherwise.”

(i) Both were concerned about the
variations in the character of

areas on the earth surface.

(i) Both recognized that there were
distinctly different kinds of

areas on the earth.

(zii) Both stressed the ways in which
the features of a region reflected
the basic patterns of the
physical earth.

(tv) Both believed that each earth
area showed a certain degree of
uniqueness that could be

defined.
(A)

(1), (1) and (iii) are correct

(B)

(i), (Ziz) and (iv) are correct

(&)

(), (1) and (iv) are correct

(D) (), (i) and (iv) are correct

JUN - 36220/I1—C

33. feoiean faummer fe=mr =0 anfor ey

HIVA 9 Tk e AR O 9.

HBER oAU IETE Weheudl Ufeedl
gfteqa et foreivm staear fogm
Id, T STeegT TUE! STHAT =T oTedt
Hehe BId. "’

() TR gt RUNTEe YT
Ui Sfaemegea fada g

(i) TeiAt g s &I gedTa

I3l Yehial &5 Bid.

(i) T YTRfaew gedt=ar qaAYd
sMpfaaema yrfyres et

~ et

PISIEL

e

d 0T YeHdie SR

(iv) e ST YfHehear faward Jaem
i Tcdesh gl &5 fofise gHmomd
TehHadr gRIfael g St gRenfoa

Shell S ITohd.

@), (i) 37T (ii) TR

(i), (iii) S (jv) SR
(@), (ii) S (jv) S

@), (iii) 3T (jv) SR

(A)
(B)
(C)

(D)
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34.

35.

List of scientists (List-I) and their
fields of contributions (List-II) are
given below.

Match List-I and List-II and select
the correct answer from the codes
given below :

List-I
(@) Galileo
(b) Newton
(c) Kepler
(d) Copernicus
List-II
(1) Heliocentric universe
(2) Elliptical motion of the earth
(3) Universal mathematical order
(4) Law of gravitation
Codes :
(@ B) @ @
A @O 2 G @
B 3 @ @ @
< @ 2 @O O
M 2 @ 3 @

Viewing men as the enemy in their
struggle for women’s liberation is
specific to which of the following :

(A) Social feminism
(B) All types of feminism
(C) Radical feminism

(D) Post-modern feminism

34.

35.

JUN - 36220/11—C
et fediedn Ael-1 4l a-ies STt
IE-I1 78 e AreE fad oTR.
IR-1 3o AR-11 Hefid Sirean Sfeean
st el feciedn Fehdis™ed 3T
g e :

-1
(@) Tifafas
(b) =
(¢) UK
(d) hIRfH"

Ter-11
1) oz fova
(2) Y= fagwia germe
(3) afyasw o %A
(4) Teer fEH
Hehdieh :

(@ ®) @ @

A @O 2 6 @
B 3 @ @ @
< @ 2 @O O
D 2 @ 3 @

I3 WA URAMT Eeledsh! e
3@ whell Sl ?

(A) IS SR

(B) GayshR=l AR

(C) Il SR

(D) I-3MYfTeh Sieg
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36.

37.

38.

39.

Which was an important instrument
for bringing about the required
change in perspective in
geographical work from regional to
systematic ?

(A) Quantification
(B) Geometry
(C) Economics
(D) Psychology

Which is the approach that specified,
“What ought to be there rather than
what is there” is called ?

(A) Normative
(B) Logical
(C) Regional
(D) Positive

What distinctive shift in emphasis
resulted out of the Schaefer-
Hartshorne debate of the 1950s ?

(A)
(B)

Neo-determinism to possibilism

Areal diffraction to spatial
integration

(C) Physical geography to human
geography

(D) Radicalism to humanism

Two highly influencial books
published by which two geographers
during the 1960s underlined the
importance of theoretical models and
quantification in geography.

(A) Gregory and Chorley
(B) Ackerman and Haggett
(C) Harvey and Gregory
(D) Chorley and Haggett

36.

317.

38.

39.

JUN - 36220/I1—C

driifersr wrAtHEd R T TR
i AEvdh Jed SUUATHTS!
Teh Hew@d WEA Hiod ?

(A) GHTHR R IT]

(B) Yt

(C) A3

(D) HFTEITE

s/ FiSia e wivm o1 <o
19 T 3T’ TTUET h1T Uifest | oTe
..................... 31_@ w.

(A) THTITHEATTH

(B) diferen

(C) Yfern

(D) HHNIHS

1950 =91 TYTHRTATA TIHI-BIEINA

e Sfesea s fafyrse aga

Al ?

(A) To-TTg=gEr 9 IEREER

(B) &sfta  fafu=ar d  wuei=
TR [h 0T

(C) Wikfdesh il o HFel e

(D) ufiadaar @ AFedeR

1960 =T TITERIAIA FhRIITd HATAA <

I ERTEdd Hgifaew  Fiaam

0T AT [hL0TaR. STIREd e

fergum=an S fiieiare 1 RioTd!

3Tea ?

(A) T emfor 9t

(B) THEA Ao &

(C) =@ efor IRy

(D) 3t emfor &
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40.

41.

42.

43.

Anthropogeography as a branch of
geography developed in the hands
of whom ?

(A) Friedrich Ratzel

(B) Alexander Von Humboldt
(C) Carl Ritter

(D) Vidal de la Blache

Which of the following statement/s
is/are true ?

1. If bulk of values are less than
mean, the distribution is
negatively skewed

2. If bulk of values are greater
than mean, the distribution is
positively skewed.

3. A perfect symmetrical normal
distribution has zero skewness.

(A) Only 1 is true
(B) Only 2 is true
(C) Only 3 is true
(D) 2 and 3 are true

The ruggedness of topography is best
represented using :

(A) Composite profile
(B) Projected profile
(C) Superimposed profile
(D) Longitudinal profile

In a frequency distribution, the
sharply peaked kurtosis is known as :

(A) Micro-kurtic distribution
(B) Meso-kurtic distribution
(C) Platy-kurtic distribution
(D) Lepto-kurtic distribution

40.

41.

42.

43.

JUN - 36220/I1—C

IV F&I HFehg e i)
Th el U foehe e ?

(A) HefF e

(B) 3ToeRIel-aia-galee

(C) =i R

(D) ESTA-El-eT-=A

ETATUh! HIVQY/HOC fIeH 3T
3T ?

1. SR Halfeeh & 1 Heayen wu
T faaong koA fa=aar 3Tdd.

2. SR aif¥er H&A AeAue |Gl
STHATeT dX TN Y-lcHSh T eAdl

4.

3. A FHTOTAGE HTHTA foraoTa

forarerar =1 314,
(A) K 1 TgH A8
(B) %K 2 ITH AR
(C) WK 3 3T T
(D) 2 & 3 3TgH 3T

TS EEaEqqun 3 By
Wa’m‘ﬁﬂaﬁa

(A) fasr 9

(B) wafua
(C) AR
(D) ST

IRANAl deAHed dig e
Wﬁﬂ (Kurtosis) 3 U@ :

(A) H&H-hehadl deA
(B) HEAH-hepgdl s
(C) TSRi-whepgdl &
(D) SIfeme-shepadl s

22
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44. Which of the following is the value | 44. SR W& 20 3 o FHOT foree 7
of coefficient of variation, when the 3 W WIEATeTh! EENE
@e;m is 20 and standard deviation W 3T
is 7.

(A) 20.2 per cent (A) 202 =%
(B) 40 per cent (B) 40 =
(C) 35 per cent (C) 35 =Rk
(D) 68 per cent (D) 68 TFH

45. Match the List-I and List-I and | 45. 9©I-1 3 aQ-IT A/=A1 e J&ad @eid
select the correct option from the gq,,q[qmb ar g fHEeT
codes given Iljf%l:v; : o

e (StiTE. swe)
(GPS Satellites)
(@) GLONASS @ W
(5) NAVSTAR (b) AaER
() IRNSS () 3T 3RGI TH-T8-
(d) GALILEO (@) e
List-II 11
(Country) (@)
(1) USA 1) FTWEL
(2) Russia (2) T
(3) European Union (3) IUF wHE™
(4) India (4) Y4
Codes : Hehdieh :
(@ ®) @© @ (@ ®) @ ()
A 2 @ G @ Aa @ @ & @
B @ 1 @ O B @2 1O @ O
< 3 1 @2 @ <€ & @O @ @
D 1 & @ @ O 1 Q) @ @
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46.

47.

48.

Which of the following aerial
photograph will have nadir point,
principal point and isocenter all at
the same point ?

(A) Low oblique photograph
(B) High oblique photograph
(C) Convergent photograph

(D) Vertical photograph

Which of the following correctional
procedure in digital image is
required for “Line dropouts”.

(A) Geometrical correction
(B) Radiometric correction
(C) Atmospheric correction
(D) Image enhancement

Which of the following statements
is/are true ?

(1) Median is the value which
divides the distribution exactly

into two equal halves.

The value of median can be
estimated from cumulative
frequency graphs.

(2)

Median is reliable because it is
not affected by sampling
fluctuations.

3)

(A)
(B)
(&)
(D)

Only statement (1) is true
Only statement (2) is true
Statements (1) and (2) are true

Statements (1) and (3) are true

46.

47.

48.

JUN - 36220/I1—C

AN A ~ Iy o
ClldlcdYen] <nlVlcd] gdls  SlHElTHAIAN

1Y Tafeas yqw foig 9 Aedehs § T
fogeR e/am ?

(A) = fu st

(B) ifuer faed omEnfes

(C) HeIfgE S

(D) STIcd BA=

o N A = [a} [a o X3
LleYenl plVIdql gb«'ll Hlen 4l NIEN
gIUsTee’ Hel 3Evash 38 ?

(A) yfFda e

(B) fafewcothda gexit

(C) SITaTeRuE gei]

(D) 9fqHE de

WAt hIoTdT/RIoT faem @ o1 2
(1) Wemeh B TR T 3T S deAret
IR U T HHE WETHE
farm.

gegehre fRadan 3N Gahferd
SRARAT T Sl 43 Lehdl.

(2)

qegsh B WITAYAT 3ME HRT
T IS AR TR B

&l

TR fau™ (1) B eTR
TeRl fam (2) R SR
faum (1) enfor (2) BR TR
fagm (1) sfor (3) =R sE

(3)

(A)
(B)
(®)
D)
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49.

50.

Data that provide additional
information about geo-spatial data
in GIS is known as :

(A) Raster data

(B) Vector data

(C) Non-spatial data
(D) Meta data

Match List-I and List-II and select
the correct answer using the codes
given below :

List-I
(@) Lorenz curve
®)
(c)

(d)

Hydrographs

Ergograph

Rating curve
List-11

A synthetic graph which is a
combination of graphs and
diagrams.

(1

2)

The stage-discharge curve for
any channel

(3) Simple graphical method for
comparing distribution on two-

dimensional surface.

(4) Flow rate of streams as a
function of time.

Codes :
(@ @) @© @

A Q@ @ @O @

B) @ @ @ @

e O @ @ O

D @ 2 G @

49.

50.

JUN - 36220/11—C
JRiifeTeh Hifed! JUMCidie - STaehIieTh
EltEEaes] T UEr.
(A) STesl gfqe™ Fifeent (ST 220)
(B) <191 gfqu wifegent (et 221)
(C) 31-SThIITh TifeTeh]

(D) #a <€A

-1 9 AG1-11 A1 Sea Seoed @l
feeiedl Hehdiehlqd Arg 9arg e :

arer-1
Sl NCED
(b) ST
(c) TIHEHATSR
(d) &R o=
Iret-11
TYATS SATeie ST 3Terd d STThd]
IR JARHS THIaHSd a9

fgfadta gearata faaror qa
HIOITES ST SO el AT
Jgd.

(4) S YaTgr=Al e ST B SoseAl
FETER 3TEAL.

(@)

(1)

(2)
3)

Hehdich :

(@ B) © @
Aa 3 @ @O @
B G @ @ @
© O @ @ 3
M @ @ & @
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51.

52.

53.

54.

The hills of Baba Budan are
situated in the :

(A) Eastern Ghat

(B) Western Ghat

(C) Vindhyachal Ranges
(D) North-East Region

Which one of the following east
flowing rivers of India has rift valley
due to down warping ?

(A) Damodar
(B) Mahanadi
(C) Son

(D) Yamuna

Assertion (A) Anticyclone
conditions are formed over northern
India during winter.

Reason (R) : Low temperatures
during winter cause pressure to
increase.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Munda tribe belongs to which racial
group ?

(A) Negrito’s

(B) Proto-Australoids

(C) Mongoloid

(D) Nordics

(B)

51.

52.

53.

54.

JUN - 36220/I1—C

oM@ 95 SRR 7 AmEd fEud ofRd
(A) gEi =e

(B) Wf¥=M =M

(C) foream=a 9ad @l

(D) SRS oSl

Tl IV qaaredl Rardre
:;ﬁ%m;i TS TR Heiel] el
(A) THEIY

(B) Herdt

(C) &

(D) IgT
faam (A) : feaTamsd I URAR
Jradta gt fator 2.

HIOT (R) : Eeresmed sl arqHres
gl W STl

Tl GehdiehTden! Oy fashed feret ¢

Hehdieh :

(A) (A) g (R) S8l sRIeR 3Tled 31Ul
(R) T (A) = A TR 3R

(B) (A) @ (R) =l sleR 3ed W (R)
® (A) 9 7w TR 8]

(C) (A) T =R 38 g (R) § T 318
(D) (A) T I 31 G (R) T I 318
TST STHIA & 10T SR RN Falfera
R ?

(A) AR (FHerEeh)

(B) URI-ALARS

(C) Tegs (Hieihed)

(D) Affead
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55.

56.

Which of the following statements

is true to National Population Policy
(NPP) 2000 of India ?

(A) Total Fertility Rate (TFR) to be
brought down to the net
replacement by 2010

(B) Population stabilization to be

achieved by 2035

(C) Reduce Infant Mortality Rate to

below 25 per 1000 live births
(D)

Reduce maternal Mortality
Rate below 50 per 1,00,000 live

births

With reference to India, which one
of the following statements is not

correct ?

(A) About one-third of the area of
the country records more than

750 mm of annual rainfall.

The of

irrigation in the country is

(B) dominant source

wells.

(C) Alluvial soil is the predominant
type of soil in Northern plains

of the country.

(D) The mountain areas account for
about thirty percent of the

surface area of the country.

55.

56.

JUN - 36220/I1—C

TeAedeh! IV faEM § YRar=n TR
AHEEA &R0 (NPP) 2000 sed X
e ?

(A)

2010 Wi THU 9 X (TFR) &

freges gfaeem=a qord @]

STOTOL.

(B) 2035 9dad wihae feer .

(C) 31k I HH H&EA U T

25 =1 @l SATOT.

(D) a1 9 HH HeA Yid A 50

= Eell ATl

TRAr Feuld Eeficiieh! HIod faem

TF e ?

(A) LR : T Teh JaTaeT TRTHE
750 fodi. denm wre@ arfsie
TS G B

(B) ToRRI = <emdia fa=rren g&a 9
TR,

(C) <FT=A TR BEHMEN Mear=ht gaT &
TG TR S

(D) ST qE TFh W YT Y9

AT 2T
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57. Match List-I and List-IT and select

the correct answer from the codes

given below :

(@)
b)
(c)

d)

List-I
(Programme)
Command Area Development

Desert Development Program

Drought Prone Area
Development Program
Integrated Watershed

Management Program

List-II

(Year of Implementation)

(1)
(2)
3)
(4)

1977-78
1974-75
2009-10

1973-74

Codes :

(A)
(B)
(&)
(D)

(@)
(2)
(2)
(2)
2)

)
(1)
3)
(4)
(1)

(c)
(4)
(1)
(3)
(3)

(d)
3)
4)
(1)
4)

JUN - 36220/I1—C

57. IRI-19 IRI-11 =1 Sl Jeoad @eiel
HehaeiE 9y w3 e

(@)
b)
(c)

Jrai-1
(SRTHHA)
oy & fae™

e TaerTd hTIshH

TS AU & fash wEied

(d) TeHIfcHsh dTuTeie &5 foreh shrishH
Tret-T1

(ST a)
(1) 1977-78
(2) 1974-75
(3) 2009-10
(4) 1973-74
Hehdieh :

(@ ®) @ @
A @2 O @ @®
B 2 3 1 @
< @2 @ & @
M 2 @O 6 @
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58.

59.

60.

Choose the correct schemes about

India’s National Food Security Act,

2013 :

1. Mid-day Meal Scheme.

2. Integrated child development
service.

3. Targeted public distribution
system.

4. Adolescent girls are eligible for
daily free milk.

Codes :

(A) 1, 2 and 4

(B) 1, 2 and 3

(C) 1 and 2 only

D) 1, 2, 3 and 4

Which of the following Iron ores is

also known as ‘black ore’ ?

(A) Haematite

(B) Magnetite

(C) Limonite

(D) Siderite

Which of the following is/are true

about proposed India’s four

Industrial/Economic corriodors ?

1. Delhi-Mumbai Industrial
Corridor will be completed with
the assistance of Japan.

2. Chennai-Bengaluru Industrial
Corridor will benefit the states
of Karnatatka, Andhra Pradesh
and Tamil Nadu.

3. Bengaluru-Mumbai Economic
Corridor will be developed with
the help of China.

Codes :

(A) 1 and 2 only
(B) 1, 2 and 3
(C) Only 3

(D) 1 and 3 only

58.

59.

60.

JUN - 36220/I1—C

A=A oSt 371 L&l hiel, 2013
Feid Sefletieh! Shioreal TSl aRie
Aed ?

1. 9ea 9ieH Ao

2. TUhIcHE o faentd 9o

3. afeda grese faaeor yomedt

4. THUREEE qedl a1 WS forred
3y fHevgm®El s sRd.

Gehdlah :

(A) 1, 2 3Tfur 4

(B) 1, 2 3mfur 3

(C) 1 37for 2 e

D) 1, 2, 3 =11 4

WUt I @g @fsien ‘e

s’ ¥ qEid WU ?

(A) THERES

(B) Hm™erEe

(C) ferdmre

(D) faewse

WA Ueh! shIvNd fIE ¥ MRAr=AT diad

TR AR/ HIER o a

3MRed ?

1. foooi-gag sienfe +ifteR @
Sl Hedi Ul el Sgd.

2. WTE-dNgE SiEnfite wifterEn
RTIST HA1SH, AT ATf0T
qfHeaTg, a1 TS Bt

3. IIE-HE AU SRS fashr
e TedH B

Hehdich :

(A) 1 =101 2 wed

(B) 1, 2 3o 3

(C) T 3

(D) 1 =71 3 Hed
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61. Match the List-I and List-II and

select the correct answer from the

codes given below :

(@)

)

(c)

(d)

(1)

2)

3)

(4)

List I
Batholiths
Pumice
Sandstone
Quartzite

List II
Metamorphic Rock
Sedimentary Rock
Extrusive Igneous Rock

Intrusive Igneous Rock

Codes :

(A)

(B)

(&)

(D)

(@ B © (@
4 O @ O
@ @ @ @
2 O @ O

4 3 @ @

61. IRI-1 9 ARI-IT A= e oo @reid
Hehdlehlqd arvg e e

RICUN |

(@) SAfag

b) =ffE

(c) dATIhIeH
(d) TR

I |

JUN - 36220/I1—C

(1) ®Udid ©Esh

(2) T ek

(3) afg:gmE Af e TE®

(4) 3fadd) srfiTe wew

- -
.
-

(@)

A) 4

(B) 3)

©) @)

D) (4)

(®)

(1)

(4)

(1)

3)

(c)

(2)

(2)

4)

(2)

(d)

3)

(1)

3)

(1)
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62. The most common Dune form on

63.

Earth and Mars is ......ccc........ .
(A) Crescentic

(B) Linear

(C) Star

(D) Parabolic

Assertion (A) : Fjords are the

features produced by glacial erosion.

Reason (R) : A fjord is formed when
a glacier retreats and forms U-
shaped valley and the sea fills the

resulting valley floor.
Which of the following is correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

62.

63.

JUN - 36220/I1—C

Jeat 9 HieraR HATfeed el

(A) TSHR SRR
(B) st

(C) It

1) IGEEREEDT

faam (A) : fReieq § q&q feacr=n
3TIERV HAHS TR 2.

®RUT (R) : S el A Sd &
' AR T8 TER gd. aforH
FHST=AT G0 =T TBHRT WAl STl
g fpeile TR Bl

ATURT RV TSR AR 2

(A) 3= (A) 9 (R) o= 3{H (R) ®
(A) 9 IrY TR B

(B) 3=l (A) F (R) 379 3Ted I (R)
T (A) 3 oTgF TRIH AT

(C) (A) 37 38 W (R) T IH 3T

(D) (A) T% 3R W (R) & T+ 378

31

[P.T.O.



64. What is the difference between

65.

Conglomerate and Breccia ?

(A)

Conglomerate is round and
Breccia is angular

(B)

Conglomerate is angular and
Breccia is round

()

Conglomerate is light and
Breccia is dark

(D)

Conglomerate is porous and
Breccia is compact

Match the List-I and List-II and
select the correct answer from the
codes given below :

List-I
(@) Scroll lake
(b) Alluvial fan
(¢) River mouth
(d) Desert

List-II
(1) Distributaries
(2) Bajada
(3) Piedmont
(4) Meander
Codes :

(@ &) @ (@
A O & @ @
B @ @ @O O
© @ 3 @O @
O & @ D @

JUN - 36220/I1—C

64. fuswy onfor Hhiomed (HIoMeH) U

™Eh HE AR ?
(A) fieem € Ma 19da 9 Sy 3
RV AT

(B) fUsd ® Shivig THaid o hIomgH
T T S

(C) fuewy ¥ ftheh oT9a@ o HIvmeH
g TTEg 1AW

(D) fiemm § 9fess 9aa a hivmey
§ T A

65. QLI & ARI-IT I Sirea e @reiel

HehdlehIqd g e e .
Iret-T

(@) Hhid TR

(b) TEATAT SRR M HeM

() T q@

(d) desae
Ter-11

(1) forafient

(2) SRl

(3) frftug

(4) mmEE TS

Hehdieh :

(@ ®) @ @)
A @1 3 @ @
B 2 @ @O @
© @ 3 @O @
D B @ QO @
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66.

67.

Most of the dust carried and
deposited by dust storms is in the
form of silt-size particles which are

known as .......cccceeuueeen. .
(A) Dunes
(B) Tuffa
(C) Loess

(D) Colluvium

As a result of release of melt water
at the terminus, glacier reworks
much of the previously deposited
moraine and redeposit the material
beyond the glacier which is known

as :
(A) Recessional Moraines
(B) End Moraines
(C) Outwash Plain

(D) Ground Moraines

66.

67.

JUN - 36220/I1—C

ool TG eBTeIa SgATT otk Hed aTgH

Jeft Sd o Heed gd R St stfagen

SMegAl HUMMT (Silt) TIR SATeA! T

(A) STIRIART

(B) %1

(C) «iT®

(D) e (Colluvium)

ferer=an 37fan vrTd fadasetel Qo=

TEATes T W Hicd JHIV qerd=id
Sierel feHie a A H=a Sieien Mes &

feHc=a1 Uoilehe H<id Bldl oI«

o N

leHle

(A) TR IUEE TR e
(B) 379 fgde
(C) Teueeiie FeM

(D) deolhera fedie
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68. Match the List-I and List-II and

select the correct answer from the

codes given below :

(@)
)
(c)
d)

(1)
2)
3)
(4)

List-I
(Landform)

Natural Levee
Drumlin
Polje
Seif

List-II
(Agent of Erosion)
Wind
Glacier
Running water

Underground water

Codes :

(A)
(B)
(&)

(D)

(@ B © (@
@ @ @O @
4 & @ @)
@ @ @ @
@ @ @O @

68. FRI-1 9 FRI-II I Siredl Jeood @eiiel
HehaieiE ard e e

(@)
b)
(c)

(d)

(1)
2)
3)
(4)

(A)
(B)
(®)

(D)

R
fee firdt

JUN - 36220/I1—C

arat-1

(&)

TRIHS

Sk

rat-11

(STTITTTAT hieh)

Bl
T aroft

(@)
3)
(4)
3)
(3)

(b)
(2)
3)
(2)
(4)

()
(1)
2)
(4)
(1)

(d)
4)
(1)
(1)
(2)

34



JUN - 36220/I1—C

69. Arrange the features as per their | 69 HH q W 5‘\"\'1*“{ JEIHT AT
occurrence from lower to higher SEeSTATAT shHI el ¢
altitude : 1) Y
(1) Aret'e | @ "
(2) Medial Moraine
(3) Cirque 8) femret
(4) Horn (4) ﬁﬁrgr[
Select the correct answer : sRIe I ferel
A 2 3 QO @ A 2 & @O @
B) @ @O @ (@) B) @ O G (@)
< @3 @ @O @ © Q@ @2 1O @
M @ @ @ @ D 1 2 G @
70. Metamorphosis of ................. rock | 70. T TeHh T IR SIS
forms slate. HARI 3.
(A) Sandstone (A) dTHRTIH
(B) Shale (B) v
(C) Limestone (C) FTEssh
(D) Granite (D) <humeH
71. The occurrence of auroral displays | 71. gAqHta YhIYT SAfTShRT= ST
is closely correlated with : Sl FedsYl AR SR ¢
(1) Snow cover (1) &9 A
(2) Solar-flare activity (2) wWRfemen e
(3) Earth’s magnetic poles (3) g™ Fehta Y
(4) Coriolis force (4) =IEAAH o
Codes : Tehdich :
(A) (1), (3) and (4) (A) (1), 3) 9 (4)
(B) (2) and (3) (B) (2) = 3)
(C) (2) and (4) (C) (29 (4)
D) (1), (2) and (4) (D) (1), (2) 9 (4)
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72. Assertion (A) : Tropical cyclones

73.

do not form between latitudes 5°
North and 5° South of equator.

Reason (R) : Coriolis force is

maximum at the poles.

Select your answer from the codes

given below :

(A) Both (A) and (R) are true and

(R) is the proper explanation

of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(B)

1S not correct

(®)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

Which one of the following is the
correct descending order in terms of
their albedo ?

(A) Forest—Black Pavement—

Snow—Water

(B) Snow—Forest—Water—Black

Pavement

(C) Forest—Water—Snow—Black

Pavement

D) Snow—Forest—Black

Pavement—Water

72. fagma (A)

73.

JUN - 36220/I1—C

. SsuTskfedeftg  srrad

forsergamaEA 5° I ST 5° gfEn

Jr=AHEY IR B Al

[ e N

HIUT (R) : IR T TR Falifeh

4.

Eeliel HehdihTuent A faereq fHerer :

(A) =T (A) 9 (R) 3Tk 3TRd 30T
(R) § (A) 9 a9 TR TR

(B) 3I=I(A) 9 (R) 379 3ed W (R)
T (A) 3 oTgF TEIH AT

(C) (A) 3T9® 38 g (R) T TH 31
(D) (A) % 3R W (R) T 37T+ 378
TCTeueh! hael JaTd BT Tl aeR

Il HH R 2

(A) TT—FS HEeS— feq—moft

(B) Teo—a—urofi—ehTedl wieeiet

(C) TA—1oi—TEH—hTedt TR

(D) fTeH—a—hTS wLEeer— ot
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74. In heterosphere different layers of

75.

gases from bottom to top are :

(A) Oxygen, Nitrogen, Hydrogen,

Helium

(B) Nitrogen, Oxygen, Helium,

Hydrogen
(C) Nitrogen, Helium, Oxygen,
Hydrogen
(D) Hydrogen, Helium, Oxygen,
Nitrogen
Main Latitudes (List-I) and dates
when Sunrays vertically fall over

them (List-II) are given.

Match List-I and List-II and select
the correct answer from the codes
given below :

List-I
(@) Equator
b)

(c)

Tropic of Cancer
Tropic of Capricorn

List-II

(1) 22 December
(2) 21 March and 22 September
(3) 21 June
Codes :
(@ b)) (o)
A 2 G @
B) @2 @O O
< @ @O @
M B 2 @

JUN - 36220/I1—C

74, fovmHeada fafay aRE o ST

75.

d odd e ITRd

(aWa

ISR

(A) STFESH, TEESH, FAgSH,
(B) =M, oo, giferm, sageH
(C) T2IeH, Bifera™, SR, gageH

(D) TESNH, Bifcrad, SiffeRTs, TE2eH
qed AR (FRI-1) 3 daren Siegl

AR AR daEd IS (IRT-11)

feciar aTmea.

-1 o AT-11 A= Sie S[eead @it

Hohdaiend G 99 faer
arr-1

(@) ToeEex

(b) Hehgd

(c) ¥HHT
are-11

(1) 22 fedR

(2) 21 9= F 22 LR

(3) 21 A

Hehdieh :

(@ () (o)

A 2) Q) @

B) 2) @O O

<© B3 QO @

D & @ @
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76.

77.

78.

A narrow zone along which there is
an abrupt change in moisture is

called as :
(A) Dryline
(B) Squall line
(C) Wetline
(D) Isotach

Assertion (A)
pressure drops as a front approaches.

: Atmospheric

Reason (R) : A front is located in
a trough of low pressure.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is the proper explanation of
(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(&)
D)

Oxygen Isotope Analysis is used to
study :

(A) Latitudinal heat balance
(B) Past climate changes
(C) Air pollution

(D) Land pollution

76.

77.

78.

JUN - 36220/I1—C

3T & IR 9 STamed sTaeh
ITA TG AW T WUEK

(A) RO

(B) T=hid T

(C) e

(D) HHITR

faegm (A) : el SRl e A 4@
SAERE YR HHT 2l

HIUT (R) : 2ATETST HHT SO SIUTHES
Tegq e1Ha.

@il GehdiehTueh! A faeheq faret ;
(A) Tl (A) o (R) 3Tk 3Tled 3101
(R) ® (A) 9 919 Tqien 318

(B) Tl (A) 9 (R) e 31med W (R)
T (A) T H TIEHIU AR

(C) (A) T9® 38 W (R) T TH 3
(D) (A) T% 38 WG (R) T 3TH 318

Affergs gHEfeh faversor I Ut
T SIEEE B

(A) ST&feRITE 3T HHAI
(B) YdeTeiiel BAHM Seed
(C) T Jguw

(D) yHI ggu
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79, e, layer(s) is (are) present | 79. e oW 7 (B) A=A At
during night in the Ionosphere. AR UL THal (379drd)
(A) D, E and F (A) D,EdGF
(B) Only D (B) % D
(C) Only E (C) wH E
(D) Only F (D) T F

e | 8 T i 7 ot e
(List-II)g are given. YeRIAEY d 3Ted (FG1-1T) feier .

. : -1 9 ARGH-I1 =0 TS Sesad @ree
e e b bt e e
codes given below : arat-1

List-I (@) ©THIH
(@) Khamsin ) fog=
(b) Chinook (c) o=
(¢) Mistral d) I
(d) Bora AIE-11
List-II (1) e wre A @R
(1) Rhone valley of Southern France @) Tfeae g T‘f S
(2) Eastern shore of Adriatic sea 3) IE T e R
3) Eastern slopes of Rockies :
E4; Egypt and I1:he Red Sea () S A AT
Hehdiah :
Codes :
(@ b)) (@ (@
(@ b)) (@ (@
A @ @ G O A 2 @ Q) @
B) @ QO @ O ® @ @ @ 6
© @ ® O © © @ B L@
D 2 @ 1O @) D 2 @ @O O
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81.

82.

83.

To generate tidal power, the tidal
range should be ................ meters and
the basin should have considerable
size.

(A) 1-2
(B) 2-3
(C) 3-4
D) >5

Which one of the following is tide
dominated delta ?

(A) Ganga-Brahmaputra
(B) Mississippi
(C) Rhone

(D) Sao Francisco

Assertion (A) : Celestial bodies are
responsible for the rhythmic change
in the ocean water level.

Reason (R) : Centrifugal force
created due to earth’s revolution is
responsible for the change in ocean
water levels.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
(D)

81.

82.

83.

JUN - 36220/I1—C

oe N

NGRS IE R RET

A -SRI el
A -STRIET el
0T 1 WA SR RAN & A0
ST

(A) 1-2
(B) 2-3
(C) 34
D) >5

@AY hIvdT Tdi-3TgIel

=S wew A’ ?

(A) -SRI

(B) fheitdidt

(C) =M

(D) Gl I-aeeht

faam (A) : SR 9ol UTdesidiel

N oA o
NRIR:EINE SN S ERCHIS IS RS ISVE %I{UII’E
SHAId.

AN o

ERIER|

&HIUT (R) : 9 9U9m=al Uidesidid
FEA™ geaT= qRYHUE 0T Sierel
HEANT TA HRUNYT ST

AT I TSR AR ?

(A) Sl (A) 9 (R) T 3fred 3l
(R) T (A) ¥ A9 fagamo o1g

(B) 3T (A) 9 (R) 379 3ed T (R)
T (A) 9 49y fagewor =&

(C) (A) T9® 38 W (R) T TH 3T
(D) (A) & 3R g (R) T 3TTH 3T
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84. Which one of the following is an | 84. @Iellcideh! IV TSI AU LA
initial form of the sea wave ? ey AR ?
(A) Infragravity (A) 3TTEA (TThTifeaet)
(B) Gravity (B) e (Ifedt)
(C) Ultragravity (C) 3ifd Tea (Aeenifeel)
(D) Capillary wave (D) &MY W (HfUedd a=8)
85. According to ‘Ekman Spiral’ the net | 85. ‘THHA TR’ JER VAT THUN &
transport of the water moves at | oo FAE B
.............. angle.
(A) 45° (A) 45
(B) 60° (B) 60
(C) 90° (€) 90
(D) 750 (D)r\75\ fa ~ ﬁ
86. Which is the true statement ? 86. TIcileTdel =hIvTd ﬁ?ﬂ e ?
. 1. YR, SdEondrel 9ron, SSoTde
1. Ocean atmosphere coupling of NN .
water, heat and momentum Sezarfl SATfur e ST B&AIeR
transfer is also influenced by 7 geatean giger SElial guifad
earth’s rotation. AT,
2. The Coriolis force draws ocean 2. W Myl shrisiferd WW
water to the right of its path in O e WA 3SR
the northern hemisphere. S
3. Moon and Sun creates tidal 5 PR o
bulges on either side of earth. 3. @ ASIgee TEATEAT il AN
Codes : ; - G
: e
(A) Only 1 (A) FH 1
(B) 2 and 3 (B) 2 sTfur 3
(C) 1 and 3 (C) 1 amfor 3
D) 1, 2 and 3 D) 1, 2 3o 3
87. As per the concept of ocean basin | 87. | @R fThEAT=N HHETITIR IR
development, the stage of ocean R & oA feodg 3
basin closure is referred as .............. . TS S
(A) Mature stage (A) Trefeerdt
(B) Juvenile stage (B) Seafeerdt
(C) Old stage (C) ggfeerdt
(D) Terminal stage (D) FAfeerd
41 [P.T.O.



88.

89.

90.

91.

An average angle of continental

slope is about .................. .
(A) 10°
(B) 8°
(C) 6°
D) 4°

Converging long shore currents form

(A) Shore normal currents
(B) Rip currents

(C) Near shore currents
(D) Tidal currents

The high flux of solar radiation at
the tropical and subtropical ocean

water is higher than
(A) 25
(B) 20
(C) 15
(D) 10

A plant adapted to saline condition
is called.................. .

(A) Glycophytes
(B) Halophytes
(C) Hydrophytes
(D) Xerophytes

88.

89.

90.

91.

JUN - 36220/I1—C

Te SAEl 99 i HIERd:

(A) 10°
(B) 8°
(C) 6°
D) 4°

AT YaTeT=A SR
= fAfid 2.

(A) TR <« gare

(B) 9 yamg

(C) T oFiae qa1e
(D) Wt-3TRIE Yare
IO07 ST AT ShfcseTdiel IRT qTurer

R fafertor s=9 yeare

S ST
(A) 25
(B) 20
(C) 15
D) 10

e RFEerdel Seoa S T
................ 31@ TBUTdId.

(A) TATFRIHZSH
(B) TAThIzey
(C) TESIHREY
(D) Y
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92. Which region is known as the | 92 GRSl UM RV FoW
polygon of drought ? HAzErell S ?
(A) Sao Raimun do, Brazil (A) & g 1, S
(B) Rajasthan, India (B) TSI, 4Rd
(C) California, USA (C) hfawifian, ¥ Teem
(D) Sahel, West Africa (D) @iedt, dfgeH Sithen
93. Match the List-I and List-II and | 93 -3 I A= e e @1eii
select the correct answer from the W RUCIECIEECEINE
codes given below : I
List-1 (@) T TS
(@) Acid rain ) wERh S
(b) Photochemical smog © feref g
(¢c) Combination with hemoglobin ) I am
(d) Depletion of ozone AT
List-II
(1) CHCI, CHF,
1) CHCl, CHF
v 2 2 CO
(2) CO
3) CO,
3) CO, ’ r
(4) AHYH TREAGRISTH
(4) Unsaturated hydrocarbons o
Wehdieh :
Codes :
@A @ @ @ @ @“ @ 6 @ O
B & @ @ @ B & @ @ @
©) 2 @1 @ 3 ©c @2 O @ O3
D @ @& @O @ D 2 G O @
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94. Match the List-I and List-IT and | 94 F&-L S AGHLI A= SIS e @eiier

select the correct answer from the Fehdlshld g v e ¢
codes given below : eI

List-1 (@) feten aFerd
(@) Green plants ®) TSN

(b) Animal parasites

(c) TLSIe Tl

(¢) Plant parasites
P d) Twh
(d) Fungi
¢ AE-11
List-II
(1) faeres
(1) Decomposers
(2) WufHes v&h
(2) Primary consumers
3) fgdfta ware
(3) Secondary consumers
(4) 3IUEH
(4) Producer
Hehdiah :

Codes :

(@ ) © @
(@ B @ (@

@ 3 @ @ @
@ & @ @ @

B 1O B3 @ @ B O B @ @

© 2 @O 3 @ © @ @O 6 @

O @ & @ @ M @ & @ @)
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95. Assertion (A) : Ecosystems are 95. faam (A) : R =0 e et
called as open systems. )

Reason (R) : Ecosystem is a R SHloodle=l wldld.

complex systgm of 1nteract19ns HRUT (R) : TRE TS Sfe o Wi

between organisms and the physical N ...

enrolment. FAERT AT SEl SaEaY B

Which one of the following is EeleTieh! hIvd aRIe 378 ?

correct ?

(A) Both (A) and (R) are true and (A) T (A) T (R) 3T9F T (R) §
(R) is the correct explanation of (A) T I TR AR
) B) T=I(A) T (R) 319 9 g (R

(B) Both (A) and (R) are true but (B) (A)F(R) . tR_EI’( )
(R) is not the correct B (A) ® A TRl R
explanation of (A) .

(C) (A) 3T9F 3R WY (R) T T R

(C) (A) is true but (R) is false 1 e "

(D) Both (A) and (R) are false (D) (A) o707 (R) <1 9 3Te

96. Assertion (A) : Excessive use of o o
pesticides in crop field is causing the 96. faerma (A) e T afafEd
washouts to get mixed in water of hIShHATIRTAT STIRTHeS hiZhATIRIH]
adjoining fresh water aquatic ol o Ta=a] TS 9ToaTdiel gRaeser

ecosystem resulting in the decline in : e O A e e

the populations of fish eating birds ?ﬂ?ﬁfd N

and falcons. e T

Reason (R) : Pollutants may alter ST (R) : TGO i1k e seat

natural habitats and bring about Heq VA ST A Seel

changes in the food chain. T

Which one of the following is

correct ? WeAeTIsh! 1A sRiel 38 2

(A) Both (A) and (R) are true and A) B (A) 9 (R g% oA (R
(R) is the correct explanation of (&) A) %( ?)q‘rw( : : R ®)
(A)

(B) Both (A) and (R) are true but (B) 3=l (A) & (R) 3T F g (R)
(R) is not the correct T (A) 9 IMY TR TR
explanation of (A) .

(C) (A) is true but (R) is false (C) (A) oF 3¢ Wq (R) & I M

(D) (A) is false but (R) is true (D) (A) I R g (R) T 3T 3T
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97.

98.

Which is the central government
nodal agency responsible for
planning promotion and
coordination of all environmental

activities ?

(A) The Central Pollution Control

Board

(B) Municipal Corporation

(C) State Pollution Control Board

(D) Ministry of Environment and

Forests

‘Kyoto Protocol’ an agreement signed
by various countries is associated

with :

(A) Building common food stock to
save human beings from any

natural disaster

(B) Clean environment and climate

change

(C) World Trade Organisation

(D) Deep sea oil and mineral

exploration
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99.

100.

In which year was ‘Disaster

Management Act’ introduced in

India ?

(A) 2010
(B) 2008
(C) 2005

(D) 2009

What is the difference between

Hazard and Disaster ?

(A) Hazard is natural but disaster

is artificial.

(B) Hazards have potential for
damaging different forms of life

and disaster is the actual

experience of hazard.

(&)

Hazard is actual experience and

disaster is natural event.

(D) Hazard is actual experience and

disaster is manmade event.
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